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Question: 1

DRAG DROP
You have implemented a simple bookshop CAP application for the purpose of selling books. You want to
implement an event handler in the bookshop-service, that calculates a discount of 10 % on the price of
books written in English ("en"). In all other cases, you want to calculate a discount of 5 %. The price
should be calculated after books are read from the service. Drag the code snippets from below into the
correct parts of the event handler implementation. Drag the key and value items from below into the
correct parts of the descriptor file.

Answer:
Explanation:

‘bookshop-service’, after, ‘READ’, forEach, ‘book.language == ‘en’, ‘book.price = book.price * 0.95,
book.price = book.price * 0.9

Question: 2
Which of the following are characteristics of the SAP Business Technology Platform, ABAP Environment?
Note: There are 2 to choose.

A. Runs within the Kyma environment
B. Is based on the latest ABAP platform cloud release
C. Runs within the Cloud Foundry environment
D. Is based on the latest SAP NetWeaver Application Server for ABAP release
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Answer: B C
Explanation:

Question: 3

Your customer presents you with the following UI requirements: Users work on different kinds of items.
Different visualizations without interactions between the visualizations. No drilldown.
Which SAP Fiori elements floorplan do you recommend they use?

A. Object page
B. Analytical list page

C. Worklist
D. List report

Answer: A
Explanation:

Question: 4

What are some characteristics of CAP event handling? Note: There are 2 to choose.

A. You can register only one event handler for a specific event.
B. You must use the handler registration API srv.emit(<event>) to de-register event handlers.
C. You can register event handlers with instances of cds.service to add custom logic.
D. You can register multiple event handlers for each event phase.

Answer: C D
Explanation:

Question: 5

At which of the following levels can you assign entitlements? Note: There are 2 to choose.

A. Global account
B. Environment
C. Cloud Foundry org
D. Directory

Answer: A D
Explanation:


